Econ 522 – Lecture 21 (April 21, 2009)
Last Thursday, we began to examine the legal process itself.

· We said that the goal of the legal process should be to minimize the sum of two types of costs:

· the administrative costs of implementing the process

· error costs – inefficiencies coming from distorted incentives caused by an imperfect system
· We then broke the entire legal process up into a series of steps, or decision points

· The decision to sue or not sue

· The option to settle out of court immediately

· The exchange of information before a trial

· The subsequent decision to settle or to proceed with the trial

· The trial itself

· And the appeals process

· We said that we expect people to sue for harms where the expected gain from suing is bigger than the cost

· Filing fees – the initial costs of beginning a legal complaint – help determine how many people choose to file suits

· When failures to provide a remedy have only distributional effects, the social cost of these errors is close to 0, so filing fees should be high, to minimize administrative costs

· When failures to provide a remedy have strong incentive effects, the social cost of these errors is large, so filing fees should be low

· We talked about the decision to settle or go to trial
· Trials are costly to both parties
· So the expected cost of a trial to the defendant (including litigation costs) is greater than the expected benefit to the plaintiff (net of litigation costs)

· Out-of-court settlements can be Pareto-improving, and seem likely to occur when the two sides agree on the expected judgment that a trial would lead to

· When the parties are each relatively pessimistic about their own chances in court, settlements should be even more likely.
· When the parties are relatively optimistic about their own chances, settlements are less likely, and may be impossible

· We talked about the process of pre-trial discovery
· Before trial, the two parties share information about the case – some of it voluntarily, some of it because they are required to

· The parties will happily share information that corrects the other side’s relative optimism

· So voluntary information exchange should make settlements more likely
· Voluntary information exchange reduces both administrative costs and error costs

· During the discovery process, parties are also forced to share information they would otherwise have kept secret

· This could be information that would correct the other side’s relative pessimism, and therefore could make settlement less likely

· Involuntary information exchange reduces error costs, but the impact on administrative costs is unclear
Next topic: Pre-Trial Bargaining
· Suppose that there are no legal costs to settlement

· After information exchange but before the trial starts, the plaintiff might be willing to accept settlements S such that
S > EJP – LCP
where EJP is the plaintiff’s view of expected judgment and LCP is the plaintiff’s litigation costs.

· Similarly, the defendant might be willing to offer settlements S with
S < EJD + LCD
where EJD is the defendant’s view of expected judgment, and LCD is the defendant’s litigation costs.

· So settlement is at least a possibility when
EJP – LCP < EJD + LCD
which is when 

EJP – EJD < LCP + LCD
(This doesn’t mean settlement will always happen, just that it’s possible.)

· The left-hand side can be thought of as the amount of relative optimism
· When the two sides agree on the expected judgment, this is 0

· Relative pessimism makes this negative, relative optimism makes it positive

· And the right-hand side is the two sides’ combined legal costs.

· Recall earlier in the class, we said that when two parties bargain, one reasonable outcome is when the gains from cooperation get split evenly

· That is, each side’s payoff is his threat value plus half the gains from cooperation
· We can apply the same idea in the context of an out-of-court settlement

· And let’s suppose that the two sides agree on the expected outcome of a trial, EJ
· Suppose the two sides are bargaining over a settlement

· The defendant knows that if bargaining breaks down, they’ll go to trial, and his expected payoff will be – EJ – LCD, so this is his threat point.

· The plaintiff knows that if bargaining breaks down, they’ll go to trial, and his expected payoff will be EJ – LCP, so this is his threat point.
· Combined payoffs if they go to trial are – LCD – LCP if they go to trial

· If they reach a settlement, their combined payoffs will be 0 – the plaintiff will receive exactly what the defendant pays

· So the gains to cooperation are the litigation costs that are avoided, LCD + LCP.
· If bargaining is successful and the gains are split evenly, then the plaintiff gets his threat value plus half the gains from cooperation: this would be
EJ – LCP + ½ (LCD + LCP) = EJ – ½ LCP + ½ LCD
· When a trial is equally costly to both parties, this is just EJ

· So when the parties agree on the likely outcome of a trial, and have the same litigation costs, a reasonable settlement is exactly the expected level of damages that would have been awarded at trial.

· The book talks about a different type of legal complaint: a nuisance suit
· This is a lawsuit which has no legal value – if it went to trial, the defendant would definitely win

· The sole purpose of a nuisance suit is to force a settlement
· Under the principles we just saw, this shouldn’t work if trials are equally costly to both sides

· If LCP = LCD and both sides agree that EJ = 0, then we just saw that a “reasonable settlement” would be 0.
· However, suppose the cost of going to trial is different for the two sides

· The book gives the example of a developer, who has to settle a lawsuit to avoid delaying construction

· In this case, the cost of going to trial would be high for the defendant, since it would include construction delays on top of lawyers’ fees; the plaintiff’s cost of going to trial might be much lower.

· For a concrete example, suppose the cost of going to trial would be $5,000 for the defendant, and $1,000 for the plaintiff

· Assume the suit has no merit – there is no chance of a judgment

· The two sides’ threat points – the value each could get if they are unable to bargain to a settlement – would be -5000 and -1000

· The gains from cooperation are 6000

· The “reasonable” settlement we described earlier gives the plaintiff his threat point plus half the gains from cooperation – here, -1000 + 3000 = 2000

· So the plaintiff might be stuck paying a settlement to avoid a worthless lawsuit, just to avoid the cost of going to trial.

· As we mentioned before, though, even when the parties are not relatively optimistic, settlements may sometimes fail to be reached due to private information

· For example, suppose the defendant made a faulty product, which injured lots of people

· Some people sustained minor injuries, say, $2,000 worth of harm

· Some sustained major injuries, say, $10,000 worth of harm

· But the defendant can’t tell, before going to trial, whether a given plaintiff received major or minor injuries.

· Suppose legal costs are $500 for each side

· If major and minor injuries were equally common and everyone sued, the average judgment might be around $6,000

· With equal litigation costs, this might be a reasonable settlement offer

· But if the defendant offered to settle each case for $6,000, the plaintiffs with minor injuries would all accept, and the plaintiffs with major injuries would go to trial and be awarded larger damages.
· So the defendant has two choices

· He can offer settlements large enough that everyone will accept them

· But if he does this, he creates a large incentive for even people with very minor injuries, or none at all, to initiate meritless lawsuits, hoping to settle

· Or he can offer only very small settlements, or no settlements at all, and accept that he’ll go to trial much of the time.

· (The book points out that we can see nuisance suits as bluffs – people with no valid claim start a lawsuit hoping to settle, knowing that they can’t win at trial.  They point out that another strategy is to settle with some plaintiffs and go to trial with others, at random – basically, making bluffing more costly.)

Trial

· In Europe, judges in civil trials tend to take a more active role in developing the case – this is referred to as an inquisitorial system, since the judge asks questions

· In the U.S., it’s the lawyers’ job to develop the case, with the judge serving as a more passive referee – this is referred to as an adversarial system, since the competing lawyers are adversaries, each serving his own client’s interests

· We can consider the incentives of both lawyers and judges.
Lawyers have a strong incentive to win at trial

· Plaintiff’s lawyers may be working on contingency, so they make more money when their client wins

· Even when this isn’t the case, successful lawyers earn a reputation, and can charge more for their services in the future

· So lawyers are motivated to work hard, but only in the interest of their own client
On the other hand, judges, by design, have no stake in the outcome of the trial.  (Different countries have different systems for ensuring this.)

· Thus, we expect judges to generally do what is right, rather than what favors one side or the other
· Judges, however, also have less motivation to work hard.
· The book sums up by saying that “judges have incentives to do what is right and easy; lawyers have incentives to do what is profitable and hard.”
Another important question is who pays the costs of the trial.  We already mentioned that some courts (but not all) charge fees for filing a complaint and for various other stages of the legal process.

· In the U.K., the loser in a lawsuit generally has to pay the legal expenses of the winner

· That is, if someone brings a baseless suit against me and loses, they have to pay my legal expenses

· This discourages “nuisance suits” of the type we described earlier

· However, it also discourages suits where there was actual harm that will be hard to prove.
· In the U.S., each side usually pays their own legal costs.  However, some states have rules that change this under certain circumstances.
One interesting rule like this is Rule 68 of the Federal Rules of Civil Procedure, which reads:

“At any time more than 10 days before the trial begins, a party defending against a claim may serve upon the adverse party an offer [for a settlement]…  If the judgment finally obtained by the offeree is not more favorable than the offer, the offeree must pay the costs incurred after the making of the offer.”

· To make this tangible, consider an example:

· I hit you with my car, and you sue me

· Before trial, I offer you a settlement of $6,000

· You say no, and we go to trial

· If you win at trial (I am held liable), but the judgment is less than $6,000, then under Rule 68, you have to reimburse me for all the costs I incurred after I made the offer.

· The rule does two things to encourage settlements:
· it gives me an added incentive to make a serious settlement offer

· and it gives you an added incentive to accept my offer.

· Your incentive is because if you don’t accept my offer, you may be stuck paying some of my legal costs

· My incentive is the same: if I make you an offer and you refuse, I may end up getting some of my legal costs covered

· This should lead to fewer cases going to trial.

· Rule 68 is not actually as generous as it sounds

· For one thing, attorney’s fees are not always counted as part of the legal fees that are covered

· Also, note that it is one-sided: plaintiffs are penalized for rejecting defendants’ settlement offers, but defendants are not penalized for rejecting plaintiffs’ offers.
The paper by Kathryn Spier on the syllabus, “Pretrial Bargaining and the Design of Fee-Shifting Rules,” gives a game-theory analysis of Rule 68 and similar rules.  The paper is quite technical, but the conclusions she reaches are nice:
· She shows that when both parties have private information about the likely outcome of a trial, a fee-shifting rule like Rule 68 increases the probability of a settlement

· She then goes on to consider what would happen if the court could design the “perfect” rule to maximize the number of cases that are settled out of court
· She shows that this ideal rule would look similar to a a two-sided version of Rule 68, where if the case goes to trial, either side could be penalized for “exaggerating” how strong their case was pre-trial
· In approximate terms, the ideal rule would take each side’s most generous settlement offer, and based on these, compute some cutoff level of damages
· If the case went to trial and the eventual judgment was below this cutoff, the plaintiff would pay both sides’ legal fees; if the eventual ruling was above this cutoff, the defendant would pay both sides’ legal fees

· If the cutoff rule is chosen correctly, this gives each side strong enough incentives to be honest about the strength of their case ahead of time, which maximizes the chance of a settlement
· (The paper uses a theoretical framework known as “mechanism design” – basically, where someone designs a game ahead of time to get people to reveal private information they have.  Mechanism design is also used as a tool in analyzing auctions, voting rules, and some other situations.  Like I said, the paper itself is pretty technical, but the results are nice.)

Recall that a typical trial has to answer two questions: is the defendant liable, and if so, how much are damages?

· Another variable in the design of a trial system is whether these questions are considered at the same time, or separately

· Trials where liability and damages are considered at the same time are referred to as unitary trials
· Trials where liability is judged first, and then damages are evaluated in a separate trial segment, are called segmented trials
· There are arguments in favor of either one
· The argument for unitary trials is economies of scope – the reduction in costs from doing more than one thing at once

· The court will have to consider much of the same evidence to judge liability and damages

· In some cases, the two are tightly linked – figuring out negligence under the Hand rule requires knowing how much damage the accident caused
· So when the two are closely related, it is likely cheaper (in terms of time) to evaluate both at once.

· The argument for segmented trials is that the second segment will not always be necessary

· First of all, of course, if the defendant is not held to be liable, damages don’t have to be calculated

· Second, we considered earlier the case where the defense cannot distinguish between legitimate suits and baseless nuisance suits

· This makes it very hard to settle cases ahead of time – the defense can either offer a large settlement that everyone would accept, and live with richly rewarding the nuisance suits; or he has to go to trial with all the legitimate suits.
· In a segmented trial, however, once liability has been established, the parties then have another opportunity to settle.

· So the second phase of the trial could be unnecessary, either because liability was not found, or because the liability phase was enough to filter out the baseless lawsuits and lead to settlement of the legitimate ones.

In the U.S., judges have discretion over whether a trial will be unitary or segmented.

Burden of proof, standard of proof.

· The burden of proof is the question of who is responsible for demonstrating what

· In a criminal case, it’s the prosecutor’s burden to show the defendant is guilty, not the defendant’s burden to show he’s innocent
· (That is, if nobody proves anything, the defendant goes free)

· Under a negligence rule, the plaintiff generally has the burden of showing that the defendant was negligent

· Under a rule of contributory negligence, if it’s been shown that the defendant was negligent, then it is the defendant’s burden to show that the plaintiff was contributorily negligent
· The standard of proof is the degree of certainty to which something must be proven in court

· In criminal cases, this is “beyond a reasonable doubt” – a very high standard

· In civil cases, the standard of proof is much lower: under the common law, the plaintiff must prove his case by a preponderance of the evidence
· This is usually interpreted as anything beyond 50% certainty.

· For punitive damages to be assessed, the standard of proof is often higher than this: clear and convincing evidence, which is higher than preponderance but lower than reasonable doubt
· The efficient level of the standard of proof depends on the relative costs of the two types of errors – in a criminal case, convicting someone innocent versus freeing someone guilty

· Convicting an innocent person of a crime is seem as very costly, so the standard of proof in criminal cases is very high

· Ruling against someone in a lawsuit when they should not have been liable is less costly

· They may get stuck paying damages they shouldn’t owe, but that doesn’t matter for efficiency
· So the standard of proof is lower in civil cases

The book gives a couple of examples of ways in which the rules of evidence – rules for what evidence a court should pay attention to – seem inconsistent, if the goal is simply to maximize the probability of getting the right answer
· They give an example of a concert being held in a 1000-seat auditorium

· 400 ticket holders have taken their seats when a mob breaks in and fills up the remaining seats without tickets

· The concert organizer photographs the crowd, and can identify some people who are in the audience, but doesn’t know who had a ticket and who didn’t.

· Since there were 400 legitimate customers and 600 crashers, each person has a 60% likelihood of having broken the law; but the court tends not to allow this type of statistical argument.
· On the other hand, an eyewitness who thought he could identify one of the gate crashers, but was shown to only identify people correctly 60% of the time, would probably be allowed
The upshot: by focusing on efficiency in this class, we care only about outcomes, not on how they are reached
But in a real-world legal system, the process by which an outcome is reached is seen as important in its own right, not just because it hopefully leads to the right outcome

We’ll talk more about this in a couple of lectures

Finally, a little bit on the appeals process
· In the U.S., there are three levels of federal courts: district courts, circuit courts of appeals, and the Supreme Court

· Litigants in district courts have a right of appeal – the circuit court is required to consider their appeal

· Litigants in circuit courts do not have a right of appeal – the Supreme Court has discretionary review – it can choose whether to consider a particular case or not.

· In some countries, appeals courts hear the entire case again.
· In common law countries, appeals courts tend to only consider certain issues.

· Common law appeals are generally limited to matters of law – whether a legal error was made at trial, such as a statute being applied incorrectly.

· Matters of fact – whether a particular witness was credible enough to convince a jury of a particular claim – are generally not considered on appeal
Clearly, an appeals process adds to the administrative costs of a legal system

· So it is only beneficial if it reduces error costs

· Cooter and Ulen offer two reasons why this might be the case, and so the appeals process might decrease total social costs:
· Appeals courts are more likely to reverse “wrong” decisions than “right” ones
· This leads losing parties to appeal “wrong” decisions with higher probability than “right” ones
· The first condition is required for the appeals process to reduce error costs at all.

· The second condition – that bad decisions are more likely to be appealed than good decisions – suggests that the reduction in error costs may outweigh the increase in administrative costs.

· (If all cases were equally likely to be appealed, then the appeals process could simply be considered a part of the original trial.)

We’ll come back to the legal process next week, when we revisit some of the big-picture questions about efficiency.

Thursday, we’ll talk about criminal law

Now: return the midterm

· This exam was hard

· Mean and median both around 65 (std dev 15)
· Don’t freak out if you did badly on it
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